GEN N 102 FEMERMAR R AL LT R XA

# B EHE BELES)
H R 38 0 60 548

I AFEZEEAEFHES -
L2 ABMEAEAIKIR
|3 ABASBAL - HE RS2 A BARE A AR E A -
B4 ARE REMERRTELSERRTHENAE PRSI MBI LE R
= Fitn s BEBSMABHALER2E » REBEESPZEEE -
;ﬁS.Wgﬂﬁ@%’ﬁﬁﬁﬁﬁ%%%

6. ARMREBDPH - HEEL - F @R -

T, RME R ARG RIAM SR ASE - B AR R AT RRS R -

— ~H A 60%20 8 > FH 3 5 60 5)
LA = BRE ERG A RAMR A ERIE2 485 B EHAM2 24 Ch A2 %2
800K > RIBlEZHELE KW

2 F [B1) Aic RE12Q1=4Q5 QSR A BZ3(A) -

Va
2V —
T . r
T 2
0 " B ot
v 2
2
-4V {
[E 1] (& 2]
34t [B2) Ao > s B2 T34E 4 RAFV) -

440 [ 3] AR > A—EFLBERS > 2 Ri=100 Q> Ry=20 Q> Ry=5 Q> C4=10 uF » %%
M Redy  @ias(Q) -

|
+
<)

345

ARXEE X 1R £ 47 [FEmR g4 ]



S_ERBHBEGHNASOV/2UF R 100V /2 pF > 2 SEtig R KB A RAF(V) o
65— RL 3 E%H > A -kt 100V HEREERE > FEBETR 20 A F st
100sin1000t Vg9 R ER » TR ETHA10A KLz A mH -

TARRGHRAE= B PESH RG> F -T2 B EA T RN 24 A F5 R AFHE
R ARZHERRES (WA BB FEEE M UTWHAEN)

8.4 [B4) Fisc > REM SEGBRMIA Z35(A)
S 1000 1
A -
A
+
4 300 e 900/0°V
120V _
B D 7
500 SH  900/120°V
C
[® 4] [E 5]

94wt [B5) A 3¢03WHEAM > Z1=6H8Q > R=mARZ THHEA W) -
1040 F [B 6) Ao EBAI=520" 5 BIERIEE S

202
(' AN
100207 () S 2
||
||
[E 6]
1.5 S8 08E3645x 107 EEF  AlLEB0TRE % (A)-

RAE-EERAx ERKBELEAEAIOmA A 1S Q> X —E3 Qa0 nEE > Bl
BRATREZRERES. Z2 (mA) -

13.75@4@@%%1%%& SR ABLIEL2 Ll ZAREA2FH > B _ERHEMZEKRAOF
H o F o BREN R EBAT A I2ZERESA.  FH M)




44T [B7) i REBREZRB AL ERE -

O g
vy,

S0V §5H
(& 7]
154 — 68 EH > LWRIAE A 480Hz > R=150Q > Xi=10Q > BIEAKBW) A Hzo
1640 F [H 8) A » R MR B ST shse A BEFEJ) -
M=3H
O_»_m/\
4A S5A
5H§E 3 6H
’ N1 N2 :
[ 8]
17.3% % i=20/3 +20+/2 sinot G232 2 4 248 4 3% (A) °
1840 F [ 9] Aism » RRKESWliaT S inkiig > Hafkhgkxigrs o
R R
%
V——--——— p
v
S
S
[® 9]

19. 8% b HagtaER 1A 3044 Z2EAL=60NE  BI4EA A% A ##(N) -

20.4 — RLC &3 T 2] v(t)= 141 sin(1000t) V LA Bk > €42 R=60 gkig > L=0.12 4] » &
REXEBHFRH06(AAMNZERMECH Bk B (UF) -

AXESE IR £ 47 [F#RssEL]



N EAMAE 40%d A B0, 0 240 %)
1.4 F (B 10] A57 » KFH &4a 1 (30 ¢'=0.368 » ¢2=0.135 » ¢°=0.05)
(DSH4E > RAEFHFHAT? (34)
QAESHH Ve AT ? (34)
(3)t=25%%% Sttt » KX BHEMFEH? (24) BB VFHME)E VRZEAE0? (24)

3uF
¥
i
S 1okQ 10 4 F 20V
¥ [+ =1
| | 1
4uF 2uF 2uF
. uF 2uF 2p
150V —— 6k Q 1000 4 F ||
— 8uF
. m
+ B -
[& 10] [E 11]

240k [B 11) Fisr ) ChoB7REd—2u0F ERSAEERAE20V > £F7 &4
MEREEECAHS D UF? (35)
QBUFEREAEEEAS I uC? (34)
Q) IOUF ERBRAFEEAS D W? (24)
DEREREAREZIV? (24)
3.40F (B 12] A > ZLATATRE BFBRANE? 50) BARHNERHED? (54)

30Q 2002 20Q

(& 12]

4% — RLC % B 3835 B % 6985 4 7000 Hz » 2% Bt Qs=20 » KT 51444 °
(DEEBW ? (24)

QEBEREGR)? (24) FALAEGR? (24)

B)EZEETMR=4Q 5 AHRFZIERNLREZL>HNAE DL ? (24)

@2 EHOBREASL 255 AERLAEREROTHEAED? (24)

EAEE F LR X4 R




